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1. LIS

ERALEL XL R RORERAIEREIS
LI FOHKREHEDNTT,

SR16000/M1 1./—Fk 980.48GFLOPs
BG/Q 1/—F 204.8GFLOPs
XM1 1/—k 844.8GFLOPs
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HAREXRITHITF_/EFE=E
C'"=A"B

AR A 7L, LA TTDO3EEDO I—7FT
DO j=21n,lj

DO i=1n,li

DO k=1n

lj * lieaR_RLTOVET
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Dsimdy @ HENS,
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Q)FRREDIN—T () DIV —TEHN /iH2" DK
(HEEEHFOREAERVEDN2MBELT
(5)N(2x1j +1i)x 8B < 32KB

N = 384N (N +2)x16B = 2.25MB > 2MB

N =192,288l&EHBIZN (N +2) x16B < 2MBZ A 7=

j =3,li=6,N =288TIEN(2xIj +1i)x8B = 27KB

N =384Tllj =3,1i =6TN(2xIj +1i) x8B = 36KB

N =384Tidlj =3,1i =4TN(2x1j +1i) x8B = 30KB

ZhBh S, N =288, 1j = 3,1i = 6 T861GFLOPs(E7%h=87.8%)
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2.SR16000/M1 AT L
2.1 ERWERITIREHE
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C'=AB

SR16000/M1 HaeHITEHER

smt=off  32smp

N M7 754 o A
ERE |ROORH 8 |EES [RfTRE |t
GFLOP |} GFLOPs |GFLOP |} GFLOPs
32|16 134 1680 436] 745 1683 443
648%2 o8] 1079 odd| 091 1079] 948
06)3+6 1982 2449 809 1990 2447|813
128)4x4 4698  6.100 10| 4726)  6092)  Tif
192|3%6 138  1.92% 823]  1083]  1919) 826
288(3%6 0301 6.212 861| 9309 6205 864
384[3x4 12684 19.234 833 127001 15217] 839
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C'=A'B

SR16000/M1 HEHIEHEE

smt=on  64smp
57 |[7a34 e
EEE |E1RME M [EEE |E1RHE M
GFLOP [B) GFLOPs |GFLOP |#) GFLOPs
321161 134 2923 291 145 2918 259
64/8%2 87| 1847 318 592  1.849 321
06)3%6 19821 4819 M1 1992) 4815 14
12844 4698 11.660 403  4731) 11652 407
192(3%6 1985 1.969 807) 15901  1.964 810
288]3%6 5391 10.178 526]  5360] 10.171 521
384]3x4 12684 19.178 661 12702 19.164 663
(3F) smt=off §4smp,bind
192{3%6 1985 1.950 §13] 1585 1943 816
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MR E=4—1REF (SR16000. M1) ETHHEAE

32smp setenv hf _bindproc_stride 2
— F'prunst(threadnum(32), bind(2))’
64smp setenv hf _bindproc_ stride 1
— F'prunst(threadnum(64), bind(0))'
— F'prunst(threadnum(64), bind(1))'

N=768

055 LTHRIE
smp bind BHEE EITERE |1T4ERE

(GFLOP) |(#) (GFLOPs)
32 1 9060 71.930 [ 125.956
64 0 9060| 41.305 | 220.787
64 1 9060| 40.128 | 225.778

HEEE=2—NDIE
smp bind HBEE EITHRE [T4EE

(GFLOP) [(#) (GFLOPs)
32 1 9070 71.294 | 127.213
64 0 12431 41.158 [ 302.016

64 1 12299| 39.978 | 307.642
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3.1 EERUBHITIRAR

xm! ER{TIIRE A ERR

C'=A'B smt=4
E17EEE (%)) EE 2 (GFLOP), I BE(GFLOPs)
N 32 64 96 128 192 288 384
BEE 734 587  1982| 4698 1585  5351| 12684
84T [16%1 |82 36 4x4 36 3%6 34
32smp 1984] 1360 | 2870 7718 2473]  8004| 19.954
gt 370 432 691 609 641 669 636
64smp 4630 | 3101  7.982| 22277| 3644 15478 30317
gk 159 189 248 211 435 346 418
96smp 5168 3377|7898 21491] 4155 11202] 40646
gk 142 174 251 219 381 478 312
128smp 10637| 6571|9649  3758] 7379 16438 34771
gk 69 89 205 125 215 326 365
32core  |32core
(FE)smt=2 2567| 8274
617 647
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L2F+aAICABTRICEVET,

2.smt=4DFHsmt=2NIFELVIEEEH R,
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HREEITHIRE
C=(A"B)"A

smt=4
E{THERI(R), BE =(GFLOP), 14 BE(GFLOPS)
N 32 64 96 128 192 288
HEE 1468| 117.44] 396.36] 939.52| 3170.89| 10701.77
BT 16%1 8%2 3%6 4x4 3%6 4%3
32smp 0.057 0.277 0.767 2.396 4842]  17.751
tEBE 258 424 517 392 655 603
64smp 0.127 0.62 3.29 5.222 13.77|  32.405
4 BE 116 189 120 180 230 330
96smp 0.174 0.708 3.255 6.523 13.07| 23.282
4 BE 84 166 122 144 243 460
128smp 0.265 1.258 3.89 9.001] 23852 39.163
tEBE 55 93 102 104 133 273
32core 32core
0.813|(;¥)smt=2 18.907
488 566
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P X(EN=96SN=192(cEDH>TL\ET,
2.smt=4DFHsmt=2NIBFELVIEEH R,




4BG/QY AT L
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bg BRELHTIE
C'=A'B
-05-garch = gp- gtune = qp - qcache = auto
-ghot = level =2-qipa = level =2-gsimd = auto
-QSmp = omp
%ﬁﬁﬁﬁsﬁ (#)
n EHE ’)"47 16smp  [32smp  [48smp  |64smp
(GFLOP)
32 134[1%16 18399 97.998
64 587)2x8 25.179] 22174
96 198]3%4 4094 3930 3.831
128 470]|2%4 10.283] 11.250 8.200
192 1585)3%4 32318] 25078 | 22773 | 22917
288 53591[3*4 102.125] 64.950 | 70.568
384|  12684|3%4 231.934] 154.786 196.162

(GE)48smpTIE,96,192(3 54 F2%412LT VA,

RS EREIZ82GFLOPs
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C'=A'B

BRERTIR

-03-garch = qp - tune = qp - qcache = auto - ghot = level =1
-(Jipa = level =1
-gsimd = auto - gsmp = omp

LIRHE-EX (7))
n BEE |87 |16smp  [32smp  [4Bsmp  [64smp
(GFLOP)
96 198|3%4 4075 3448 3673
128 470(2x4 10155  7.928 8.123
192 1585|3%4 32373 20034 | 22314 20523
256 3758|2%4 81983 49812 57069
288 5351(3%4 100.029] 63432 | 70078
384|  12684|3%4 238.699| 153.374 199.939
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-05-qarch = qp - gtune = qp - gcache = auto
-ghot = level =2-qipa = level =2-gsimd = auto

-gSmp = onp
EHE
ETRE-EX(F)
n BEE (%7 |16smp  [32smp  [48smp  |64smp
(GFLOP)
32 134|1%16 125.247| 124539
64 H87(2%8 19.187| 20.635
96 198|3x4 4894 4909 5.200
128 470)2%4 10913 10522 10.205
192 1585(3%4 43199 33.340 24860
288 5351|3x4 123406 106.704 | 87.407
384|  12684|3x4 263.06] 256.902 187.866
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